
× 7 4

740

＝

16 74

10

＝

③ 1 6 × 7 4 − 6 − 6 × 7 4× 7 4 ＝

5

2425

＝

5
25

75

＝ − 7

2 5 − 3 × 2

× 2 5
97 25

＝ ×

＝ − 3② 9 7 × 2 5

3000

＝

125

2 5 ＝ 3 ×

1000

＝ 3 ×

×

日にち：　　月　　日

名まえ

・ 　　にあう数を書きましょう。

① 3 × 8 × 1 1 2 5

⑨ 定着

( )

( )

( )

9



× 7 4

740

＝ 7 4 0

16 74

10

＝ 1 0

③ 1 6 × 7 4 − 6 − 6 × 7 4× 7 4 ＝ 1 6

5

2425

＝ 2 4 2 5

5
25

75

＝ 2 5 0 0 − 7

2 5 − 3 × 2

× 2 5
97 25

＝ 1 0 0 ×

＝ 1 0 0 − 3② 9 7 × 2 5

×3

3000

＝ 3 0 0 0

日にち：　　月　　日

名まえ

1000

＝ 1 0 0 0

1 2 5×3

・ 　　にあう数を書きましょう。

① 8×3 × 1
125

2 5 ＝ 8 ×

⑨ 定着 答え

( )

( )

( )

9


